
539 UHV E-Beam Source Drawings

The current version of this drawing pdf can be found at 

https://telemark.com/uhv-e-beam-sources/compact-linear-uhv-sources/

Drawing Rev. Description Page

Reference Dimensions 2

R539-0001 A Model 539 E-Beam Source Dimensions 3

Model Assemblies 4

539-9904-1 A Model 539-04 EB Source, 4 Pocket 5

Common Assemblies 7

539-3150-1 A Emitter Assembly 8

9/16/2025

https://telemark.com/uhv-e-beam-sources/compact-linear-uhv-sources/


 

 

Reference Dimensions 
E-Beam Source 

  



 
265.60
10.46  

 
378.54
14.90  

425.45
16.75  MAXIMUM

 
19.84
.78  

MANUAL ROTATION HANDLE

CRUCIBLE WATER OUT

CRUCIBLE WATER IN

SINGLE PASS HIGH
VOLTAGE FEEDTHROUGH

SINGLE PASS HIGH
VOLTAGE FEEDTHROUGH

 
26.93
1.06  

 5.97 [151.64] 

16X 
8.43

.33
ON 5.128 [130.25] B.C.
22.5  APART

98.55
3.88  CLEARANCE

SOURCE BODY
WATER IN

SOURCE BODY
WATER OUT

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

FILE NUMBER        - 
INITIAL PROJECT  -

R539-0001
539

10-14-2024G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

 
FINISH:

MATERIAL:

2:3
SHEET          of

SCALED R539-0001
DWG NO. REV

A

MODEL 539-04 EB SOURCE,
4 POCKET, 4cc

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B C D GFE H I

1

2

3

4

5

1 1



 

 

Model Assemblies 
E-Beam Sources 

  



18

33

40

33
2

17

3

1

5

11

36

16

34

30

15

12 41

31

13

7

4

15

13

6

24

26

37

14

8

2022

23
10

27

29

25

9
28

21

24
13

15

32

6

19

38

35 ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 221-0019-5 ASSEMBLY, FEEDTHRU, HV, 12kV, 1.33 CFF 2
2 221-0211-1 ASSEMBLY, HIGH VOLTAGE COVER, 1.33 CFF 2
3 271-0676-2 QUICK CONNECT, F, 3/8" TUBE 4
4 271-3500-1 GASKET, VCR 1/4" 2
5 271-3581-1 GASKET, CFF 1.33" 2
6 271-3601-1 GASKET, CFF 2.75" 2
7 271-3641-1 GASKET, CFF 6" SILVER PLATED 1
8 271-5985-2 Screw, #2-56 X 1/8" SST Flat Head 2
9 271-5999-6 SCREW, FLAT HD PHIL, #4-40 UNC X 1/4" LG, SST 2
10 271-6030-6 VENTED SCREW, #6-32 X 1/4" SST SHCS, SILVER 2
11 271-6030-8 VENTED SCREW, #6-32 UNC X 1/4" LONG, SST BHCS 4
12 271-6040-6 VENTED SCREW, #6-32 X 5/16 SST. SHCS, SILVER 2
13 271-6050-6 VENTED SCREW, #6-32 X 3/8" SST SHCS, SILVER 8
14 271-6060-5 VENTED SCREW, #6-32 UNC X 1/2" SHCS Ti 2
15 271-6060-6 VENTED SCREW, #6-32 X 1/2" SST SHCS, SILVER 8
16 271-6125-6 VENT SCREW, #8-32 X 3/8 SST SHCS, SLIVER 2
17 271-6132-9 SCREW, #8-32 UNC X 9/16" SHCS. 12
18 271-6140-9 SCREW, #10-32 X 5/16" SST. SHCS 3
19 271-6194-8 #1/4-28 X 1" SST 12 Pt, SILVER 12
20 509-0003-1 ANODE 1
21 509-0055-1 PERMANENT MAGNET 1
22 509-3033-1 REAR BLOCK, EMITTER 1
23 509-3035-1 EMITTER SPACER 1
24 539-0053-1 POLE PIECE 2
25 539-0058-1 MAGNET ARM, LEFT 1
26 539-0059-1 MAGNET ARM, RIGHT 1
27 539-0084-1 BOTTOM COVER 1
28 539-0084-2 BACK COVER 1
29 539-0112-1 MAIN BLOCK ASSEMBLY 1
30 539-0213-4 BASE PLATE ASSEMBLY, 4 POCKET 1
31 539-0399-1 TROLLEY BRACKET ASSEMBLY 1
32 539-0204-7 CRUCIBLE ASSEMBLY, 4x 4cc 1
33 568-0243-1 WASHER, BRASS 2
34 539-0451-1 VEE RAIL MOUNTING BAR 1
35 539-1301-1-LV CF FLANGE ASSEMBLY, 6" 1
36 539-1501-1 RAIL 2
37 539-3150-1 EMITTER ASSEMBLY 1
38 568-0226-1 BELLOWS 1
39 568-0244-1 COVER 1
40 568-0245-1 DRIVE HANDLE 1
41 539-1502-4 V WHEEL ASSEMBLY, ECCENTRIC 3

DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 

FILE NUMBER        - 
INITIAL PROJECT  -

538-9904-1
539

10-29-2024G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

 
FINISH:

MATERIAL:

1:2
SHEET          of

SCALED 539-9904-1
DWG NO. REV

A

MODEL 539-04 EB SOURCE,
4 POCKET, 4cc

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B C D GFE H I

1

2

3

4

5

1 2



DO NOT SCALE DRAWING THIRD ANGLE PROJECTION

 

FILE NUMBER        - 
INITIAL PROJECT  -

538-9904-1

10-29-2024G. DIONDATE
DATE
DATE
DATE

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

GLOBAL TOLERANCES
UNLESS OTHERWISE SPECIFIED

 
FINISH:

MATERIAL:

1:1
SHEET          of

SCALED 539-9904-1
DWG NO. REV

A

MODEL 539-04 EB SOURCE,
4 POCKET, 4cc

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS

A B C D GFE H I

1

2

3

4

5

2 2



 

 

Common Assemblies 
E-Beam Source 

  



11

7 13

12

8

10

9

7

2
6

4

3

1

5

3

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 223-0010-1 HV INSULATOR 4
2 271-6006-5 Vented Screw, #4-40 X 1/4" Hex Flat Head,Ti 2
3 271-6030-1 VENTED SCREW, #6-32 UNC X 1/4" SST SHCS 2
4 271-6060-5 VENTED SCREW, #6-32 UNC X 1/2" SHCS Ti 4
5 271-6199-4 VENTED SCREW, HEX SOC SET, #6-32 UNC X 3/8" LONG, SST 4
6 271-6242-1 FLAT WASHER, #6 SST 4
7 273-0006-1 INSULATOR, COLLAR 4
8 509-0002-1 FILAMENT, 5-1/2 TURN 1
9 509-0033-1 FILAMENT CLAMP, LEFT 1
10 509-0033-2 FILAMENT CLAMP, RIGHT 1
11 509-3004-1 BEAM FORMER 1
12 539-3031-1 CATHODE BLOCK, LEFT 1
13 539-3032-1 CATHODE BLOCK, RIGHT 1

EMITTER ASSEMBLY
 

A
REVDWG NO.

539-3150-1B SCALE

SHEET          of

1:1
1

MATERIAL:

FINISH:

SEE PARTS LIST
 

SEE NOTES

UNLESS OTHERWISE SPECIFIED
GLOBAL TOLERANCES

DWG BY
CHECK BY
PROJ ENG
MFG  ENG

DATE
DATE
DATE
DATE

G. DION 10-15-2024

539-3150-1
 

FILE NUMBER        - 
INITIAL PROJECT  -

1  

THIRD ANGLE PROJECTIONDO NOT SCALE DRAWING

A B C D E F G

1

2

3

4

5

H

Battle Ground, WA

CONFIDENTIAL.  This document contains proprietary data of TELEMARK and is not to be copied or distributed without the prior written consent 
of TELEMARK.  The receipt or possession of the document does not convey any rights to reproduce it, disclose its contents, or to manufacture, 
use or sell anything incorporating the conepts and details disclosed by it.  Such concepts and details are not to be used other than for the
 benefit of TELEMARK and are not to be disclosed to others without the prior written consent of an officer of TELEMARK.

                INCHES    [ mm]
.X       +/- .03         [ 0.762 ]
.XX     +/- 0.01       [ 0.254 ]
.XXX   +/- 0.005     [ 0.127 ]

    ANGLES    +/- .5
    SURF FINISH    63 RMS


	274 Multi Pocket E-Beam Drawings.pdf
	Sheet1
	Sheet2
	274-9901-1A.PDF
	Sheet1

	274-9902-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9905-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9906-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9907-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9908-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9911-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9912-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9913-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9914-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9917-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9918-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9919-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9920-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9923-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9924-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9927-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9928-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9931-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9932-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9961-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9962-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9901-1SSC-A1.PDF
	Sheet1
	Drawing View2
	Drawing View3


	274-9902-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9905-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9906-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9907-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9908-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9911-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9912-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9919-1SSC-a1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9920-1SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9927-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9928-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9961-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-9962-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0113-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0115-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0125-1B.PDF
	Sheet1
	Drawing View2
	Drawing View4


	274-0125-4B.PDF
	Sheet1
	Drawing View2
	Drawing View4


	274-0133-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-0135-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	291-0127-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	274-5175-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View7


	291-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	274-0300-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	274-0300-X-D.PDF
	Sheet1
	Drawing View3
	Drawing View5



	R264-0001A1.PDF
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View6


	264-9901-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9902-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9905-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9906-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9907-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9908-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9911-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9912-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9913-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9914-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9915-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9916-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9927-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9928-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9955-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	264-9956-1A.PDF
	Sheet1
	Exploded View
	Isometric View


	261-0127-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0113-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0115-1C.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0133-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-0135-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	265-0125-1A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-9906-1SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	264-5175-1B1.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5


	291-3151-1C.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5


	R294-0003B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View7


	294-9901-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9902-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9905-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9906-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9907-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9908-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9917-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9918-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9944-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9969-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9970-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9975-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9976-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9979-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9980-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9993-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9994-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	273-0150-8A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0113-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0115-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0125-3A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0127-1B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0133-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-0135-2B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9901-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9902-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9917-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9918-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9944-2SSC-B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2SSC-A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9945-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9969-2SSC-B.PDF
	Sheet1
	Drawing View1
	Drawing View2


	294-9970-2SSC-A1.PDF
	Sheet1
	Drawing View1
	Drawing View2


	291-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	294-5175-1a.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	294-0300-XD.PDF
	Sheet1
	Drawing View2
	Drawing View3


	R508-0000B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	508-9901-1B.PDF
	Sheet2
	Drawing View5


	508-3150-2A.PDF
	Sheet1
	Drawing View1
	Drawing View2


	R508-0112a1.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	528-9906-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View4

	Sheet2
	Drawing View5


	528-9905-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View4

	Sheet2
	Drawing View5


	528-9904-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View4

	Sheet2
	Drawing View5


	528-9903-1A.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View6

	Sheet2
	Drawing View4

	Sheet3
	Drawing View5


	539-9904-1A.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


	R539-0001A.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


	539-3150-1A.pdf
	Sheet1
	Drawing View1
	Drawing View2





